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IBERT Eye Diagram Open Counts

S/N 9,6,1,7,4,8,

5,11,10,12,3.13
FW:IBERT+IPbus

rev 07-Sep-2018

- Gaue| P TIALM
| paue| pTIALH
- gaue| pTIALH
| Zaue|TpTIALH
- Taue| P TIALM
- 0aue| pTIALH
| Gaue| ETIALH
| paue| ETIALH
| £auRTETIALH
- zaue| ETIALLM
| Taue| ETIALH
- paue ETIALLM
| Gaue| ZTIALLM
| paue| ZTIALH
| gaue| ZTIALH
| Zaue| ZTIALH
| TauR| ZTIALLM
- 0auR| ZTIALLM
- gaue| TTIALH
- paue| TTIALH
- gaue| TTIALH
- zaue| TTIALLM
| TauR|TTTIALH
- paue| TTIALH
| Gaue| O TIALLH
| paue| OTIALLM
- £auR|TOTIALLM
| zaue| OTIALH
| Taue| OTIALH
- 0auR|TOTIALLM
- Gaue|TGOIALLH
- paue| GOIALH
| £aue| 6OIALH
| zaue| GOLLH
- Taue| 6OIALH
- 0auR|GOIALH
| Gaue| BOINLH
| paue| BOINLH
| £aue|"BOILH
- Zaue| BOWLH
| Taue| BOWLLH
- paue| BOWLLH
| Gaue|T£OWLH
| paue|Z0ILH
| gaue|”£LOINLH
| zaue|”£OWNLH
| Taue|£OLH
- 0aueR|"£OIALH
| Gaue|T9QINLH
| paue| 90IALH
- £aue| 90IALLH
| Zaue|"90IALLH
- Taue|"90WNLH
- 0aue| 90IALH
| Gaue| GOIALH
' paue| SONLH
- £auR|TSOINLH
| Zaue| SOMLLH
| Taue| SOINLH
- 0aue| SOALLH
- Gaue| pOINLH
' paue| pOINLH
- gaue| pOIALH
| Zaue| pONLH
- Taue|TpOINLH
| 0auR|TBOLH
| Gaue| EQIALH
- paue| E0IALLH
- £aue| EQINLH
- zaue| EQINLH
- Taue| E0WALLH
- 0aue| E0INLH
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IBERT Eye Diagram Percentage Open Horizontal
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FW:IBERT+IPbus
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- GauR| PTIALM
| paue| pTIALH
| coue| PTIALH
 zaue| pTIALH
| Taue| pTIALH
| 0aue| P TIALH
- gaue| ETIALH
' paue| ETIALLH
| £aue| ETIALH
| zaue| ETIALLM
| Toue| ETIALH
| paue| ETIALH
| Gaue| ZTIALH
| paue| ZTIALLM
| Eauel ZTIALH
| Zaue| ZTIALH
- Taue|"ZTIALLH
- paue|"ZTIALLH
- Gaue| TTIALH
| paue| TTIALH
| coue| TTIALH
| zoue| TTIALH
| Taue|TTTIALH
- paue| TTIALLM
- Gaue|TOTIALLM
| paue| OTIALH
 gaue|TOTIALH
| Zaue| O TIALH
- Taue| O TIALH
~ paue| OTIALH
- gaue| GOIALH
 paue| GOIALH
| £aue| EOIALH
| zaue| 6OIALH
| Taue| GOWNLLH
| paue| GOINLLH
| Gaue| BOIALH
| paue| BOWLH
| £aue| BOINLH
~ zaue|"OIALLH
 Taue|"BOIALH
- 0aue| BOINLH
| Gaue|”£LOINLH
| paue|”£OWLH
| £auR|T£OWLH
| Zaue|"£OWLH
| Taue|”Z0WALH
| aue| ZOALH
- GauR|T90INLH
| paue|"a0WALLH
 £aue|"g0IALH
| Zaue| 90INLH
| Taue| 90INLH
~ paue|"gOIALH
- Gaue| GOINLH
| paue| SOWALH
| £aue|TSOINLH
- zaue| SOWNLH
- TauR|TSOWLH
| 0auR|TSOINLH
| Gaue| pOIALH
- paue| pOINLH
| gaue| pOINLH
~ zaue| pOIALH
 Taue| pOIALH
- 0aue| pOINLH
| Gaue| E0NLH
| paue| EONLLH
| £aue| EONLLH
| zaue| EOWALH
| Taue| EQILH
! 0aue| EQIALLH
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IBERT Eye Diagram Percentage Open Vertical

5,11,10,12,3.13

FW:IBERT+IPbus
rev 07-Sep-2018

| Gaue pTIALH
| paue| pTIALH
| goue| pTIALH
| zaue| pTIALH
| Taue| pTIALH
| 0aue| pTIALH
| gaue| ETIALM
| paue| ETIALH
| gaue| ETIALH
| zaue| ETIALH
| Taue| ETIALH
| 0aue| ETIALLH
| Gaue ZTIALH
| paue ZTIALH
| Eaue ZTIALLH
| Zaue| ZTIALH
| Taue| ZTIALLH
| paue[ ZTIALH
| Gaue TTIALH
| paue| TTIALLH
| Eaue TTIALLH
| Zaue| TTIALH
| Taue| TTIALH
| paue| TTIALH
| Gaue[ OTIALH
| paue O TIALLH
I EaUR|TOTIALH
| Zaue| OTIALH
| Taue|TOTIALH
| 0aue| OTIALH
| Gaue[ GOIALH
| paue| GOIALH
I EaUR| 60NLH
| zaue| 6OIALH
| Taue| 6OINLH
| 0aue| GOINLH
| Gaue| BOILH
I taue| 80IALLH
| £aue| BOIALH
| zaue| BOIALH
| Taue| BOWNLH
| 0aue| BOWNLH
| Gaue| Z0IALH
| paue| Z0LH
| £aue| L0ILH
| zaue|"ZOWLH
| Taue|”ZOWLH
| 0aue|”ZOWLH
| Gaue|"90IALH
| paue| g0ILH
| Eaue 90WLLH
| zaue|"90IALH
| Taue| 90LLH
" Daue|"90IALH
| Gaue SOWLLH
| paue| SOLH
| £aue[ SOLH
| zaue| SOALH
| Taue| SOWLH
| 0aue| SOINLH
| Gaue| pOLH
| paue| pOLH
| £aue| pOIALH
| zoue| pOIALH
| Taue| pOIALH
| 0aue| pOLH
| Gaue| E0ILH
I taue| E0IALLH
| £aue| EQIALH
| zaue| E0IALH
| Taue| EQOINLH
| 0aue| EQOINLH
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rev 12-Sep-2018

HTM 3-14:

IBERT Eye Diagram Open Counts

S/N 9,6,1,7,4,8,

5,11,10,12,3.13

FW:IBERT+IPbus
rev 07-Sep-2018

| Gaue BTIALH
| paue| pTIALH
| gaue|pTIALH
| zaue| pTIALH
| Taue| pTIALH
| paue| pTIALH
| Gaue| ETIALH
| paue| ETIALH
| gaue| ETIALH
| zaue| ETIALH
| Taue| ETIALH
| 0aue ETIALH
| Gaue| ZTIALLH
| paue| ZTIALH
| gauel ZTIALH
| zaue| ZTIALH
| Taue| ZTIALLH
| 0aue"ZTIALH
| Gaue| TTIALH
| paue| TTIALH
| gaue| TTIALH
| zaue| TTIALH
| Taue| TTIALH
| paue| TTIALH
| Gaue| O TIALM
| paue[ 0TIALH
| gaue|OTIALH
| zaue| OTIALH
| Taue|OTIALH
| Qaue OTIALH
| Gaue| GOIALH
| paue| GOLH
| £aue| GOILH
- zaue| GOIALLH
| Taue| GOIALH
| paue| GOIALH
| Gaue| BOLH
| paue| BOWLH
I £aUR|"80NLH
| zoue| BOIALH
| Taue| BOILH
| 0aue| BOLH
| Gaue|”ZOWLH
| paue| Z0ALH
| £aue| Z0ALH
| zaue| L0LH
| Taue|”ZOWLH
| 0aue|”ZOWLH
| Gaue|"90IALH
I taue| 90lALLH
| caue 90IALH
| zaue|"90IALH
| Taue| 90LLH
I 0aue| 90IALH
| Gaue| SOIALH
| paue| SOLH
| £aue| SOINLH
| Zaue| SOWLH
| Taue| SOLH
| paue| SOIALH
| Gaue| pOIALH
| paue| pOINLH
| gaue| pOLH
| zaue| pOIALH
| Taue| pOLH
| 0aue| pOIALH
| Gaue|"E0IALH
| paue| E0LLH
| gaue| E0ILH
| zaue| EONLH
| Toue| EQOIALH
| paue|"EOIALH
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== H% HUB2 27-Oct-2018_c noDFE&EQON
HTM 3-14:

== H% HUB2 27-Oct-2018_b noDFE&EqON
e H% HUB2 28-Oct-2018_b noDFE&E

==t H% HUB2 28-Oct-2018_a noDFE&E
=#=— H% HUB2 28-Oct-2018_c noDFE&E
=== H% HUB2 28-Oct-2018_d noDFE&E

e H%

| Gaue| pTIALH
| paue| P TIALM
| £oue| PTIALH
 zaue| pTIALH
| Taue pTIALH
- 0aue| pTIALH
| Gaue| ETIALH
 paue| ETIALLH
<4 - gaue| ETIALLH
» S | zaue| ETIALH

\

- | Taue| ETIALLM
~== | paue| ETIALH
N SR
- paue| Z TIALLH
| £aue| ZTIALH
| Zaue| ZTIALLM
| Toue| ZTIALH
- paue|"ZTIALLH
| Gaue| TTIALH
| paue| TTIALH
| £aue| TTIALH
~ zaue| TTIALLH
- Taue| TTIALH
| paue|TTIALH
- Gaue|TOTIALLM
| paue| OTIALH
| £aue|TOTIALH
| zaue|OTIALH
| Taue| OTIALH
, 03ue| OTIALLH
| Gaue| GOIALLH
 paue| GOIALH
| gaue| GOIALLH
| Zaue| GOINLH
- Taue| OIALH
~ paue| GOIALH
 gaue|"BOIALH
| paue| BOWALH
| £aue| BOWLH
| zoue| BOWLLH
| Taue| BOWLLH
- 0aue| BOIALH
| Gaue|”Z0WALH
| paue|LOIALH
| £auR|T£OWLH
| Zaue|”LONLH
| Taue|£OWLH
- 0aue|”£LOWNLH
| Gaue|"9OALLH
 paue| goIALH
 £aue|"g0IALH
| zaue| 90IALH
| Taue|"90WNLH
| paue|"a0WALLH
| GauR|TSOINLH
| paue| SOWALH
| £aue| SOIALH
| Zaue| SOIALH
- TauR|TSOWLH
- 0aue| SOINLH
| Gaue| pOIALLH
| paue| pOINLH
| £aue| pOINLH
 zaue| pOIALH
- Taue| pOIALH
| paue| pOIALH
| Gaue| EQINLH
| paue| EONLLH
| £aue| EOALLH
| zaue| EOWALH
| Taue| EOIALH
, 0aue| EQIALLH
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qON
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qON
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qON
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Hub1: S/N6
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Hub2: S/N7
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rev 12-Sep-2018

HTM 3-14:

IBERT Eye Diagram Percentage Open Vertical

S/N 9,6,1,7,4,8,

5,11,10,12,3.13

FW:IBERT+IPbus
rev 07-Sep-2018

| Gaue BTIALH
| paue pTIALH
| goue| pTIALH
| Zaue| pTIALH
| Taue| pTIALH
| 0aue| pTIALH
| Gaue| ETIALH
| paue| ETIALH
| coue| ETIALH
| zaue| ETILH
| Taue| ETIALH
| 0aue| ETIALH
| Gaue ZTIALH
| paue| ZTIALH
| £aue[ ZTIALH
| Zaue| ZTIALH
| Taue| ZTIALH
| aue[ ZTIALH
| Gaue TTIALH
| paue| TTALH
| Eaue TTIALLH
| Zaue| TTIALH
| Taue| TTIALH
 paue| TTIALH
| Gaue| OTIALLM
| paue[ OTIALH
| £aue[ OTIALH
| Zaue| OTIALLH
- Taue|OTIALH
| paue[ OTIALH
| gaue| 6OINLH
| paue| GOIALH
- gaue| GOINLH
| zaue| GOIALLH
| Taue| GOIALH
| paue[ GOIALH
| Gaue[ BOILH
I taue| 80IALLH
| £aue| BOIALH
| zaue| BOIALH
| Taue| BOWLH
| 0aue"BOWLLH
| Gaue|LOIALH
| paue|"Z0ALH
| gaue|”LOWLH
| zaue|"Z0WLH
| Taue|”ZOWLH
| paue| ZOIALH
I Gaue| 90nLH
| paue| gQIALH
| £aue| 90LLH
| zaue| 9QWNLH
| Taue| 90LLH
I 0aue|"90NLH
| Gaue[ SOALH
| paue| SONLH
| £aue| SOILH
| Zaue| SOWLH
| Taue| SOWLH
| paue| SOIALH
| gaue| pOINLH
| paue| pOINLH
| £aue| pOINLH
| Zaue| pOLH
| Taue| pOIALH
| paue| pOLH
| Gaue| EQLH
| paue| E0ILH
| gaue| EQIALH
| zaue| EQIALH
| Taue| E0WLH
| paue| EOIALH
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5,11,10,12,3.13
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rev 12-Sep-2018
S/N 9,6,1,7,4,8,
FW:IBERT+IPbus

HTM 3-14:

=40 HUB1 27:28-0ct-2018_av
=0 HUB2 27:28-Oct-2018_av,

IBERT Eye Diagram Open Counts

rev 07-Sep-2018

| Gaue| pTIALH
| paue| P TIALH
- gaue| pTIALH
- zaue| pTIALH
- Taue| pTIALH
| paue pTIALH
| Gaue| ETIALH
| paue| ETIALH
- gaue| ETINLH
| Zaue| ETIALH
| Taue| ETIALH
- paue| ETIALLH
| Gaue| ZTIALH
| paue|"ZTIALLH
| gaue| ZTIALH
| zaue| ZTIALH
| Taue| ZTIALH
- 0aue| ZTIALH
- Gaue| TTIALH
| paue| TTIALH
 gaue| TTIALH
- zaue| TTIALLH
- Taue| TTIALH
| Qaue| TTIALH
| Gaue| OTIALH
| paue| O TIALLH
| £aue| OTIALH
| zaue| O TIALH
- Taue| O TIALH
- 0aue| OTIALLH
- Gaue| GOIALLH
' paue| GOIALH
| £aue| GOINLLH
- zaue| GOIALH
- Taue| OILH
- paue| 6OIALH
| Gaue| BOWALLH
| paue| BOINLH
| £aue| BOWLH
 zaue|"OIALLH
| Taue| BOINLH
| Qaue| BOWNLLH
| Gaue|”£ONLH
| paue|”LOINLH
| £aue|”Z0WALH
| zaue| £OWLH
| Taue|£OWLH
| paue|”ZOWALH
| Gaue| g0IALH
| paue| 90IALH
l EaUR|T90NLH
- zaue|"gOIALLH
 Taue|"goIALH
| paue|"90IALLH
| Gaue| GOINLH
| paue| SOWALLH
| £aue| SOIALH
| Zaue| SONLH
| Taue| SONLH
- 0auR|TSOWLH
| Gaue| pOINLH
| paue| pOINLH
| £aue| pOINLH
 zaue| pOIALH
 Taue| pOIALH
- 0aue| pOIALH
| Gaue| E0WALLH
| paue| E0WALLH
| £aue| EQLH
| zaue| EOWALLH
| Taue| EONLH
| paue| EOIALLH
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5,11,10,12,3.13

FW:IBERT+IPbus

HTM 3-14:

== H% HUB1 27:28-0ct-2018_av
== H% HUB2 27:28-0ct-2018_av

I,

Hubl vs Hub?2

Al
|

\

IBERT Eye Diagram Percentage Open Horizontal

Vi

rev 07-Sep-2018

| Gaue| pTIALH
- paue| pTIALH
| gaue| pTIALH
| zaue| pTIALH
| Taue| pTIALH
- aue| pTIALH
| Gaue| ETIALH
| paue| ETIALLH
| £aue| ETIALH
| zaue| ETILH
- Taue| ETIALH
- paue| ETIALLH
| Gaue| ZTIALH
 paue|"ZTIALLH
| £aue| ZTIALH
| zaue| ZTIALH
| TauR| ZTIALH
| 0aue| ZTIALH
| gaue| TTIALH
' paue| TTIALH
| coue| TTIALH
- zaue| TTIALLH
| Taue|TTIALH
- paue TTIALH
| Gaue| O TIALH
- paue| O TIALH
- gaue|TOTIALH
~ zaue| OTIALLH
- Taue| OTIALH
| paue| OTIALH
| Gaue| GOIALLH
| paue| 6OIALH
- g£aue|T6OIALH
l Zaue| 60NLH
- Taue| OIALH
| paue| GOWNLLH
 gaue|"BOIALH
| paue| BOIALH
| £aue| BOLH
| Zaue| BOWLH
| Taue| BOWALLH
| Qaue| BOWLLH
| Gaue|”£ONLH
| paue|”£OWLH
| gaue|£OWLH
| zaue|”Z0WALH
| Taue|”£OWNLH
| 0aue|”£ONLH
- Gaue|"90IALH
 paue|"goIALH
 £aue|"gOIALH
| zaue| 90WALLH
| Taue| 90WALH
| 0aue| 90INLH
| GaueR|TSOILH
- paue| GOIALH
- £auR|TSONLH
| Zaue| SOINLH
| Taue| SOWALH
| 0aue| SOMLLH
| Gaue| pOIALH
| paue| pOINLH
- £aue|TpOINLH
| Zaue| pONLH
| Taue| HOWNLLH
 aue| pOIALH
| Gaue| EOIALH
| paue| E0WALLH
| £aue| EOIALH
| zaue| EOWALLH
- Taue| E0IALH
 paue| EOIALH
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FW:IBERT+IPbus
rev 12-Sep-2018
Hub2: S/N7
FW:IBERT+IPbus
rev 12-Sep-2018
S/N 9,6,1,7,4,8,

HTM 3-14:

=4 \/% HUB1 27:28-0ct-2018_av
== \/% HUB2 27:28-0ct-2018_av

vV Y

Hubl vs Hub2
IBERT Eye Diagram Percentage Open Vertical

5,11,10,12,3.13

FW:IBERT+IPbus
rev 07-Sep-2018

| Gaue pTIALH
| paue| pTIALH
| £aue| pTIALM
| zaue| pTIALH
| Taue| pTIALH
| Qaue| BTIALH
| Gaue| ETILLH
| paue| ETIALH
| gaue| ETILH
| Zaue| ETIALH
| Taue| ETIALH
| 0aue ETIALLH
| Gaue| ZTIALH
| paue| Z TIALLH
| £aue[ ZTIALH
| zaue| ZTILH
| Taue| ZTILH
| 0aue| ZTIALLH
| Gaue| TTIALH
| paue| TTIALH
- gaue| TTIALH
| zoue| TTIALH
| Taue| TTIALH
| paue| TTIALH
| Gaue| OTIALH
| paue| O TIALLH
| £aue[ OTIALH
| Zaue| OTIALH
I Taue| O TIALH
- paue| OTIALH
| Gaue| GOILH
| paue| GOIALH
- gaue| GOIALH
| zaue| GOIALH
| Taue| GOINLH
I 0aue| GOIALH
| Gaue| BOLH
| paue| BOLH
| £aue| BOIALH
| zaue| BOIALH
| Taue| BOLH
| 0aue| BOLH
| gaue|”Z0NLH
| paue|”Z0WLH
| gaue|”ZOWLH
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